
Question

Let M be any σ-algebra of sets. Show that

i) EεM, F εM ⇒ E ∪ FεM

ii) EεM, F εM ⇒ E ∩ FεM

iii) EεM, F εM ⇒ E − FεM

iv) φεM

v) E1, E2, · · ·En · · · εM ⇒

∞
⋂

n=1

EnεM

Answer

M is a σ-algebra of sets. i.e.

a) EεM ⇒ ECεM

b) E1, E2 · · · εM ⇒

∞
⋃

i=1

EiεM

i) Suppose E,FεM. Let E1 = E, E2 = E3 = · · · = F .

Then
∞
⋃

i=1

Ei = E ∪ FεM.

ii) E ∩ F = (EC ∪ FC)CεM

iii) E,FεM ⇒ E ∩ FC = E − FεM

iv) EεM ⇒ ECεM ⇒ E ∩ EC = φεM

v) E1, E2 · · ·En · · · εM ⇒ EC
1
, EC

2
· · ·EC

n · · · εM

⇒

(

∞
⋃

i=1

(Ei)
C

)C

εM ⇒

∞
⋂

i=1

EiεM
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